General Studies for Primary School
Electrical circuit (SCRATCH game) – Challenging questions (Extension)

Find out the answers of the following questions by using the SCRATCH game. Let’s try!

1. In the following circuits, which light bulb does not light up? Please “” the correct box.
	 Circuit 1









	 Circuit 2






[bookmark: _GoBack]Reason: In the circuit, there is/are ( one battery / two batteries ) with ( same / opposite ) direction(s). Therefore, the driving force of the current would be ( cancelled/ increased ) and the current ( can/ cannot ) pass through the light bulb. 


2. In the following circuits, which light bulb does not light up?
	  Circuit 1






Wood
	  Circuit 2






Reason: As ( the piece of wood / the electrical wire ) is an insulator in the circuit, the current ( can / cannot ) pass through the light bulb.


	 Circuit 1





	 Circuit 2










3. In the following circuits, which light bulb is dimmer?
Reason: In the circuit, there is/ are ( one light bulb / two light bulbs ), hence, the electrical energy received by each light bulb is relatively ( more / less ).

Suggested answers

1. In the following circuits, which light bulb does not light up? Please “” the correct box.
	 Circuit 1









	 Circuit 2






Reason: In the circuit, there is/are (one battery / two batteries) with (same / opposite) direction(s). Therefore, the driving force of the current would be (cancelled/ increased) and the current (can/ cannot) pass through the light bulb. 

2. In the following circuits, which light bulb does not light up?
	   Circuit 1






Wood
	  Circuit 2






Reason: As (the piece of wood / the electrical wire) is an insulator in the circuit, the current (can / cannot ) pass through the light bulb.

3. In the following circuits, which light bulb is dimmer? 
	 Circuit 1





	 Circuit 2










Reason: In the circuit, there is/ are (one light bulb / two light bulbs), hence, the electrical energy received by each light bulb is relatively (more / less). 
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